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2024.7.25
K = BEERR|ESRE TS5k ($Ea/mi)
Bm - AL=F |Fb/T=D
b3 T (m) °c) (mg/1) | @md%o | 74Vo%E| S5, | & ®
b Lica = NTF—BL
0 28.9 6.5 1100
1 2 28.8 65| 35.1 920
HEH 5 27.0 6.7 670
7:32 10 249 5.2 120
B=124
0 28.1 6.9 550
13 2 274 68| 357 480
HEH 5 26.8 6.9 |. 500
7:44 10 25.7 7.0 20
B=14.0
0 297 75 1820
10 2 287 85| 352 1020
e; 5 27.0 6.9 800
7:59 10 25.0 6.9 810
B=18.8
0 29.7 7.6 940 0 0
11 2 288 88| 352 560 0 0
BREH 5 27.1 6.9 330 37 32
8:05 10 247 5.8 80 1 0
B=20.1
0 288 75 80
14 2 285 77| 354 400
oF: ] 5 26.5 7.2 30
8:19 7 249 5.4 140
B=9.8
0 30.4 7.0 780
9 2 283 76| 354 820
f 5 26.6 7.2 0
8:26 10 243 49 100
B=12.6
0 295 6.8 860
15 2 28.1 78| 354 1280
iR (R) 5 271 15 400
8:35 10 246 5.6 80
B=12.9
0 29.2 74 550
18 2 283 76| 355 180
5 27.1 7.1 250
v OEMEg 10 256 71 0
8:46 15 237 6.6 -
B=26.3
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